93 0939 (s 930 Jgazd) duslid) Baxgl) daz) yo Joe Gyl J>
do ) daL

calad) = degite liks 2 Jo¥ ol = clhaS & paitad) pslal Cadll & as) LY zebisl 5 zaliall 28ge

19:49:29 2024-10-05 : 70 liall gBse sle Calall 28La] £y,

opsall |l bia¥l | Aging ol Sae | oty colasle | (s julonil zxgie toliasS

paiial] ] Caall ooy e laiz ¥l ol gl

£ zolial] i
< @ e sl LY
\("\5\ .

P LY

Q)

i sl dal)) i) ) e M) i 1)) el e algall

Jod) hasd) (46 claasS Baladly paiial) pslal) Caall oy lilad] (o gl

ay ko) 8L ) )il (b b S (oY) Baxgl) daxl yo Jac Glogl J> 1

aBllally egall (uja ing j0 s 2
iig ¥l LS jodl olss s g g pe 3
Loslaly aiad) LS 0l o g Cings g0 o0 4

8 A (8 g S 28 ac g W) o jall g 5 o0 5



https://t.me/uaecourse
https://almanahj.com/ae/id=27635
https://almanahj.com/ae/id=27635
https://almanahj.com/ae/id=27635
https://almanahj.com/ae/13chemistry1/misc
https://almanahj.com/ae/13chemistry1
https://almanahj.com/ae/13chemistry
https://almanahj.com/ae/13
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-10-05
https://almanahj.com/ae/13chemistry1/sheets
https://almanahj.com/ae/13chemistry1/slides
https://almanahj.com/ae/13chemistry1/keys
https://almanahj.com/ae/13chemistry1/exams
https://almanahj.com/ae/13chemistry1/quizzes
https://almanahj.com/ae/13chemistry1/book
https://almanahj.com/ae/13chemistry1/guide
https://almanahj.com/ae/13chemistry1/files
https://almanahj.com/ae/13chemistry1/files
https://almanahj.com/ae/13chemistry1/final
https://almanahj.com/ae/13chemistry1/notes
https://almanahj.com/ae/13chemistry1/reports
https://almanahj.com/ae/13chemistry1/english
https://almanahj.com/ae/13chemistry1
https://almanahj.com/ae/13chemistry1
https://almanahj.com/ae/network13
https://t.me/almanahj_bot
https://www.facebook.com/groups/grade10uae2
https://www.facebook.com/grade13uae
https://almanahj.com/s/1ba512
https://t.me/almanahj_bot
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://almanahj.com/s/b32a75
https://bit.ly/3cnrM5Y
https://bit.ly/3clNMhN
https://bit.ly/3f8IKXE
https://t.me/uaecourse
https://almanahj.com/ae/13chemistry1
https://almanahj.com/ae/id=27635
https://almanahj.com/ae/id=27138
https://almanahj.com/ae/id=27137
https://almanahj.com/ae/id=27136
https://almanahj.com/ae/id=27135
http://www.tcpdf.org

Multiple Choice Questions.

Q1. | Identify which of the following is a metal?
a. Germanium

b. Oxygen

c Iron

d Fluorine

Q2. | Identify which of the following is a nonmetal?

a Silicon
b. Chlorine
c

d

Sodium
Carbon

Q3. | Identify which of the following is a metalloid?
a. Mercury

b. Argon

c Calcium

d Tellurium

Q4. | Identify the corresponding group number of noble gases in the periodic table?
a. Group 1

b. Group 2

c. Group 17

d. Group 18




Identify the corresponding group number of alkali metals in the periodic table?

a. Group 1

b. Group 2

c. Group 17

d. Group 18

Q6. | Elements in the same group of the periodic table have the same ---------==--=--eeeneee--- ?

a. Number of valence electrons

b. Physical properties.

c. Number of electrons

d. Electron configuration

Q7. | Which statement is NOT true?

a. The atomic radius of Na is less than the atomic radius of Mg.

b. The electronegativity of C is greater than the electronegativity of B.

c. The ionic radius of Br™ is greater than the atomic radius of Br.

d. The first ionization energy of K is greater than the first ionization energy of Rb.

Q8. | What is the group, period, and block of an atom with the electron configuration
[Ar]4s*3d!°4p*?

a. group 14, period 4, d-block

b. group 16, period 3, p-block

c. group 14, period 4, p-block

d. group 16, period 4, p-block




Use the table below to answer Q9 and Q10

Characteristics of Elements

~ Element  Block Characteristic
X S soft solid; reacts readily with oxygen
Y P gas at room temperature; forms salts
Z — inert gas
Q9. | In which group does Element X most likely belong?
a. 1
b. 17
c. 18
d. 4
Q10. | Using the table in Q9 above, find out in which block is Element Z most likely found?
a. s-block
b. p-block
c. d-block
d. f-block
Use the table below to answer Questions 11 and 12
Percent Composition By Mass of Selected Nitrogen Oxides
Compound  Percent Nitrogen  Percent Oxygen
N0, 30.4% 69.6%
N,0; ? ?
N0 63.6% 36.4%
N,O5 25.9% 741%
QIl. What is the percent nitrogen in the compound N203?
a. 44.7 %
b. 46.7 %
c. 28.1%
d. 36.8%




Q12. | A sample of a nitrogen oxide contains 1.29 g of nitrogen and 3.71 g of oxygen. Using the table in
Q11 find out which compound is this most likely to be?

a. N204

b. N20O3

c. N2O

d. N20s

Q13. | On the modern periodic table, metalloids are found only in
a. the d-block.

b. groups 13 through 17.

C. the f-block.

d. groups 1 and 2

Q14. | Which group is composed entirely of nonmetals?

a. 1

b. 13
C. 15
d. 18

Q15. | It can be predicted that element 118 would have properties similar to a(n)

a. alkali earth metal.
b. halogen.

C. metalloid.

d. noble gas.




Constructed Response Questions.

Q1
a. Werite the electron configuration for the element arsenic (As).
15*2s%2p®3s*3p®4s23d1%4p?
Use the table below to answer parts b and c.
Element LI Be
Valence e— 1 2 3 4
First ionization 520 900 300 1090
energy
Second ionization 7300 1760 5430 2350
energy
Third ionization
14,850 3660 4620
energy
Fourth ionization 25.020 6220
energy
Fifth ionization
37,830
energy
Correlate the biggest jump in ionization energy to the number of valence electrons in each atom.
It is easier to remove valence electrons from a partially filled shell. For lithium, it requires much
more energy to remove the second electron than the first because the second electron is part of a
completely filled outer shell. Its removal causes the atom to become unstable, and therefore
requires a great deal of energy to remove.
Similarly, for beryllium, it requires much more energy to remove the 3™ electron, for boron, it
requires much more energy to remove the 4 electron and for carbon, it requires much more
energy to remove the 5™ electron as all these removals cause the atoms to become unstable and
requires a great deal of energy to remove.
¢ Predict which ionization energy will show the largest jump for magnesium. Explain your
answer.
Magnesium will have its largest increase in ionization energy for the third ionization energy.
The first two ionization energies are how much energy it requires to remove magnesium’s two
valence electrons. The third ionization energy will disrupt a complete octet, and therefore
requires a lot more energy.




Determine the group, period, and block in which each of the following elements is located in the
periodic table.

a.[Kr]5s?4d' b.[Ar]4s*3d'%4p® c.[He]2s*2p® d.[Ne]3s?3p!

a. 3, period 5, d-block

b. 15, period 4, p-block
c. 18, period 2, p-block
d. 13, period 3, p-block

Given any two elements within a group, is the element with the larger atomic number likely to
have a larger or smaller atomic radius than the other element?

Larger

Table below shows the number of elements in the first five periods of the periodic table. Explain
why some of the periods have different numbers of elements?

Table 7 Number of Elements in Periods 1-5

Period 1 2 3 - 5

Number of elements 2 8 8 18 18

The first energy level has only the s sublevel. The second and third energy levels have only the s
and p sublevels. The fourth and fifth energy levels have s, p, and d sublevels.




